& Azt

Ta-ollA A 13 2 m floll Al =

o
=]

=

1.

o[




=l

2= oro It
o
H
A
=2
=
on
2] o AH
Lt
Ll
11—
A
AN
5t
Y3t
|
|




3. OhS €3 2L AZIS0A W BFCC 9 249l RAYE BT
Satolel (2, BAIE] AB — ABZ 7))

o

v v Vv vvy VY vy
0
L

AB ¥ BA
g CD = DC
HE . EF E=FE
HED GH E= HG

™ BFGC ¢ 291 =A2]: AB, CD, EF, GH




08 G 7} o] ALAFA A7) 5ol N2 B
2 #4917 Latele
A F
B | SE
s
I :
Gi___| 1L
1504l K
I J
» T &

AE Pt F HS

™ ABHG ¢} A DJKE,
™ AGLF ¢t ¥ CLID,

™ BHIC ¢} ¥ FLKE,

™ ABCDEF ¢} ¥ GHIJKL ©|B2 4% o]t}




& 7 473 AABC 9 ADEF 7} SSS gHgol =7 flsiA Zagh
Ao doHA AR o7 A2

3
PN L

O ¢A, /D @ (B, /E ®)DF, EF

T A A W] dolE & i SSS FE oIt




= LA A=
o] F7to] of :
. ; 7D 7} 9t} o]l =
A A, B, C,

HegHe nE
A A
AR F-shefzt. N
B
o(C "
4l
cCt
> E
s = S |

D)
, (B, C,

( ). (A, C, D)

C), (A, B, D

(A, B,




A U SR
o




Itm, lin & W, m//n ©]T}.

ol d= A= & Al A [ m, n ol At 1im, 11n
o 12 ¥A=?

o]

=



9. TS AABC 9} ADEF 7} A% %59 o, £7] gk AL TE?

@ DE = 6cm @ BC = 4cm ® /DFE = 70°
@% = 9cm ® /CAB = 50°

@ BC = 4cm




10. & 1A AABC = ADFE & o], x + y ¢] t-2?

ol

BC=FE=6=y
/B = /F = 40° = x
Lx+y=40+6 =46

1591 £Fol A 3ok W] Bolst 2te] 37




2 180° o]B 2 Yy z] g 722 180° - }

g

7o)

SR
)
o




12, o3 J79 o] do] AZMzEgl 477 5ol A A F ¢ H ABC
Atole] AE]E acm , A E 2 H ADFC Ate] 9] Ag]E bem , A C 2
H ABED Ato]9] A=lE cem, A A € ¥ DEF Ato] 9] ARE dem
H S a+b+c-d 2 S Fotoi=t

An
3eml 4cm
l’ ! \\
| 3
BfF— >C
~-bcm- " [N
| \
| \
| 1
| 6cm
// \\ 1
/ \\l‘é‘
E
>
DS l=

~&B ~

A F ¢} H ABC A0 9] 18] =CF = 6cm = acm
A E 9 M ADFC Ato]9] A2 =DE = 3cm = bcm
A C 9} ¥ ABED Aol o] Ag]=AC = 4em = cem
A A ¢} W DEF Alo]9] A8 =AD = 6cm = dem
“a+b+c-d=6+3+4-6=7




13. o 28] ez TEol AFHAlel] tisto] th= 5 &4

)
A N
c B ML K
D E F T J
G U

@O W ABMN ¥ R A g EF , A2 1] = Hjo|ct,

@)# MFIL 7 242 AL 2 Bgoldt,
® ¥ BEFM ¥ ¥ LIJK & Bo|ct.
@ W CDEB $ 242 LK & 3 Hell A et

® W FGHI & 242 BE & 222 ghdr

~&B

o}

1o

ANEE QY =Fo 2 IS,
M

N(L)
.
BTK
Foo_ |1
& HD.J)

HA=HC=HK AD=-FH=H]J
HE=HG AL=AN

@ W MFIL(= MFIN) ¢} AL(= AN) &= 3+ HoA 1

O
-




14.

% 19e 4KUAS A BAH A.C.D
¢}

Avte Brio 2 Fahfy gL QA = ’
golch, oS ZRAE AC 9 3l 9zl A
Q= mAE Q] 4ot W ACD o $H
o] 4=0] g FaHH?

D
@)1m @ 27 ® 37
@ 47 ® 57

A2 AC & 728l 914 ¢ 2A2 BD - 1 74
™ ACD o 2|91 H @ 0 7}
kA 1+ 0 = 10|tk




=EC

DB

AF7YS ABC o)l A
™=

%0

AA]

ul
)

AACD (SAS %)

AABE =

o Lo
fon ox
n <
5
m

S E
<«
I
O m
m
A A
<1 <




